GMENT gy

INS)

\ [DNV| B NS conponmow

235 West Florence Avenue, Inglewood, California 90301 310.412.7074
800.782.1582
Fax 310.673.0276

MAY 17, 2021

Mr. Jeramiah Lechler

Corpus Christi International Airport
1000 International Blvd.

Corpus Christi, TX 78406

To Whom It May Concern:

This letter is to confirm that NS vehicle wash parts are sole source products for NS’ vehicle wash
systems and equipment. These products must be purchased directly through NS Corporation to
ensure the correct operation and sustainability of your equipment. We have determined that there
are no other products available for purchase that would serve the same purpose or function.

If you require additional information, please feel free to contact me at any time. Thank you for
your continued support of NS Corporation.

Sincerely,

@\1 )y L

Ryan Lee
Parts Sales Manager

Office: 310-330-1231
Cell: 310-431-8042
E-mail: ryanL@nswash.com

Quality Management System - Certified By DNV « SO 9001:2008
Manufacturers of Vehicle Cleaning Equipment Since 1961




Quote
Order Number:
~ Order Date:
NS CORPORATION
235 WEST FLORENCE AVE. Salesperson:
INGLEWOOD, CA 90301 Customer Number:
Tel: 310-412-7074
Fax: 310-412-1196 Telephone:
www.nswash.com Copy e,

Sold To:

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

Confirm To: AVIATION

Page: 1

0098307
06/01/2021

RYAN LEE
0007099

361-429-4494

accountspayable@cctexas.com; JeramiahL@:

Ship To:

FREIGHT NET 30 DAYS

0.00 0.00

900-2605 / EACH
ACTIVATION , HOSE ASSEMBLY 3/8"OD , 7 FEET

3.00

5014-0015 / 240-2620 EACH 3.00 0.00 0.00
SWITCH PRESSURE CONTROL SWITCH (#18 OLD STYLE) NORMALLY OPEN
TO RUN CAR WASH

630-1314A/ EACH 3.00 0.00 0.00
BRUSH, TOP BRUSH - COMPLETE, SYS-1500, 5-TOUCH , ECO-5, 10-60" 1/2
DENSITY

4012-0005/610-1115 EACH 6.00 0.00 0.00
BEARING PILLOW UCP 205-16 BLOCK BEARING 1" WIB Bearings

1004-0004 / 820-1531 EACH 12.00 0.00 0.00
HEX CAP SCREW SS 1/2-13 X 2-1/4 LG 18-8 *HARDWARE FOR 1" PILLOW
BLOCK BEARINGS

1008-0005 / 870-1401 EACH 24.00 0.00 0.00
FLAT WASHER SS 1/2 USS 18-8 *HARDWARE FOR 1" PILLOW BLOCK
BEARINGS

1012-0006 / 840-2000 EACH 12.00 0.00 0.00
LOCK NUT SS 1/2-13 18-8 *HARDWARE FOR 1" PILLOW BLOCK BEARINGS

700-1800 / EACH 3.00 0.00 0.00
E-5 KIT, REPLACEMENT COUPLING KIT FOR TOP BRUSH
(E-5) ELEMENT COUPLING, 1" AND 1-7/16" E-5 HUBS WITH KEYS
INCLUDES E-5 RISER PLATE

4002-0004 / 235-2132 EACH 3.00 0.00 0.00
REDUCER 15:1 WHITE E20MDSN 1-7/16" HOLLOW BORE E20MDSM502X0C1

***STANDARD SHAFT WITHOUT HOLE FOR TOP BRUSH

1002-0004 / 820-1410 EACH 12.00 0.00 0.00
HEX CAP SCREW SS 3/8-16 X 1 LG 18-8 *HARDWARE FOR GEARBOX
MOUNTING

1009-0003 / 870-1350 EACH 12.00 0.00 0.00
LOCK WASHER SS 3/8 18-8 *HARDWARE FOR GEARBOX MOUNTING

1008-0002 / 870-1300 EACH 12.00 0.00 0.00
FLAT WASHER SS 3/8 USS 18-8 *HARDWARE FOR GEARBOX MOUNTING

4001-0033 / 212-1000 EACH 3.00 0.00 0.00
MOTOR 1HP 3PH 3/4" SHAFT 1725 RPM 56C 35L831L007G1

5000-0023 / 350-1051 EACH 3.00 0.00 0.00

CONNECTOR CORD 1/2" NPT SHC1024 14-4

28.48 85.44
26.46 79.38
2,436.44 7,309.32
20.08 120.48
1.22 14.64
0.29 6.96
0.56 6.72
410.18 1,230.54
893.41 2,680.23
0.20 2.40
0.25 3.00
0.11 1.32
594.97 1,784.91
6.57 19.71

Continued



Quote
Order Number:
~ Order Date:
NS CORPORATION
235 WEST FLORENCE AVE. Salesperson:
INGLEWOOD, CA 90301 Customer Number:
Tel: 310-412-7074
Fax: 310-412-1196 Telephone:
www.nswash.com Copy e,

Sold To:

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

Confirm To: AVIATION

Page: 2

0098307
06/01/2021

RYAN LEE
0007099

361-429-4494

accountspayable@cctexas.com; JeramiahL@:

Ship To:

FREIGHT NET 30 DAYS

Item Code
1002-0004 / 820-1410 EACH 12.00 0.00
HEX CAP SCREW SS 3/8-16 X 1 LG 18-8 *HARDWARE FOR MOTOR MOUNTING

0.00

1009-0003 / 870-1350 EACH 12.00 0.00 0.00
LOCK WASHER SS 3/8 18-8 *HARDWARE FOR MOTOR MOUNTING

9400-0067 / 760-1610 EACH 3.00 0.00 0.00
SHOCK COMPLETE, 13-1/2" RESTRICTIVE DAMPENER WITH BUSHING, SILVER

9000-1019/900-0418 EACH 3.00 0.00 0.00
MOUNTING BRACKET FOR TOP BRUSH SHOCK

9000-1016 / 900-0014 EACH 3.00 0.00 0.00
BULKHEAD SPACER FOR TOP BRUSH SHOCK ROUND BAR 2 O.D. X .63 I.D. X
.70 W UHMW BLACK

1008-0004 / 870-1400 EACH 6.00 0.00 0.00
FLAT WASHER SS 1/2 SAE 18-8 *FOR SHOCK/ SHOCK BRACKET

9000-1021 / 900-0014A EACH 6.00 0.00 0.00
BRACKET SPACER FOR TOP BRUSH SHOCK ROUND BAR 2 O.D. X .63 |.D. X
1.125 W UHMW BLACK

1004-0026 / 820-3048 EACH 12.00 0.00 0.00
HEX CAP SCREW SS 1/2-13 X 5-1/2 LG 18-8

1004-0020 / 820-1581 EACH 3.00 0.00 0.00
HEX CAP SCREW SS 1/2-13 X 6 LG 18-8 *FOR SHOCK/ SHOCK BRACKET

1008-0004 / 870-1400 EACH 30.00 0.00 0.00
FLAT WASHER SS 1/2 SAE 18-8 *FOR SHOCK/ SHOCK BRACKET

1012-0006 / 840-2000 EACH 15.00 0.00 0.00
LOCK NUT SS 1/2-13 18-8 *FOR SHOCK/ SHOCK BRACKET

900-0561-ECO / EACH 3.00 0.00 0.00
TOP BRUSH SHIELD COMPLETE ECO SYSTEMS

4012-0013/610-1121 EACH 12.00 0.00 0.00
BEARING, PB 1-1/2" WIB Bearings UCP 208-24

1004-0006 / 820-1534 EACH 12.00 0.00 0.00
HEX CAP SCREW SS 1/2-13 X 2-3/4 LG 18-8 *HARDWARE FOR 1-1/2" PILLOW
BLOCK BEARING

1008-0004 / 870-1400 EACH 24.00 0.00 0.00
FLAT WASHER SS 1/2 SAE 18-8 *HARDWARE FOR 1-1/2" PILLOW BLOCK
BEARING

1012-0006 / 840-2000 EACH 12.00 0.00 0.00

LOCK NUT SS 1/2-13 18-8 *HARDWARE FOR 1-1/2" PILLOW BLOCK BEARING

0.20 2.40

0.25 3.00
137.51 412.53
85.20 255.60
3.20 9.60
0.11 0.66
6.12 36.72
2.61 31.32
3.30 9.90
0.21 6.30
0.56 8.40
347.82 1,043.46
43.12 517.44
1.47 17.64
0.21 5.04
0.56 6.72

Continued



Quote
Order Number:
~ Order Date:
NS CORPORATION
235 WEST FLORENCE AVE. Salesperson:
INGLEWOOD, CA 90301 Customer Number:
Tel: 310-412-7074
Fax: 310-412-1196 Telephone:
www.nswash.com Copy e,

Sold To:

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

Confirm To: AVIATION

Page: 3

0098307
06/01/2021

RYAN LEE
0007099

361-429-4494

accountspayable@cctexas.com; JeramiahL@:

Ship To:

FREIGHT NET 30 DAYS
631-0000D / EACH 3.00 0.00 0.00
WRAP BRUSH, FIBER, ECO MOTION, FLANGE STYLE, DRIVER SIDE
*SPECIAL FLANGE STYLE
631-0000P / EACH 3.00 0.00 0.00
WRAP BRUSH, FIBER, ECO MOTION, FLANGE STYLE, PASSENGER SIDE
*SPECIAL FLANGE STYLE
4000-0002 / 766-4000 EACH 3.00 0.00 0.00
FLANGE FLEX COUPLING, UP POSITION, ARROW RIGHT FOR C.C.W.
ROTATION (NS-D)
*SPECIAL FLANGE STYLE
4000-0012 / 766-3000 EACH 3.00 0.00 0.00
FLANGE FLEX COUPLING, UP POSITION, ARROW LEFT FOR C.W. ROTATION
(NS-P)
*SPECIAL FLANGE STYLE
1004-0027 / 820-3068 EACH 48.00 0.00 0.00
HEX CAP SCREW SS 1/2-13 X 1 LG 18-8 *HARDWARE FOR COUPLING
1009-0005 / 870-1450 EACH 48.00 0.00 0.00
LOCK WASHER SS 1/2 18-8 *HARDWARE FOR COUPLING
1008-0004 / 870-1400 EACH 48.00 0.00 0.00
FLAT WASHER SS 1/2 SAE 18-8 *HARDWARE FOR COUPLING
4002-0004 / 235-2132 EACH 6.00 0.00 0.00
REDUCER 15:1 WHITE E20MDSN 1-7/16" HOLLOW BORE E20MDSM502X0C
*~+SPECIAL FLANGE STYLE REDUCER SHAFT, FLANGE BRUSHES
4016-0004 / 680-2550 EACH 6.00 0.00 0.00
COLLAR SPLIT TWO PIECE 1-1/4" STAINLESS STEEL
4001-0050 / 212-1004 EACH 6.00 0.00 0.00
MOTOR 1/2 HP 3/4"SHFT WASHDOWN GREY 35L.840-1802G1
5000-0023 / 350-1051 EACH 6.00 0.00 0.00
CONNECTOR CORD 1/2" NPT SHC1024 14-4
1002-0004 / 820-1410 EACH 24.00 0.00 0.00
HEX CAP SCREW SS 3/8-16 X 1 LG 18-8 *MOTOR/ REDUCER HARDWARE
1009-0003 / 870-1350 EACH 24.00 0.00 0.00
LOCK WASHER SS 3/8 18-8 *MOTOR/REDUCER HARDWARE
1008-0002 / 870-1300 EACH 12.00 0.00 0.00

FLAT WASHER SS 3/8 USS 18-8 “REDUCER HARDWARE

1,954.64 5,863.92
1,954.64 5,863.92
349.35 1,048.05
349.35 1,048.05
0.79 37.92
0.49 23.52
0.21 10.08
893.41 5,360.46
18.71 112.26
599.16 3,594.96
6.57 39.42
0.20 4.80
0.25 6.00
0.11 1.32

Continued



Quote
Order Number:
~ Order Date:
NS CORPORATION
235 WEST FLORENCE AVE. Salesperson:
INGLEWOOD, CA 90301 Customer Number:
Tel: 310-412-7074
Fax: 310-412-1196 Telephone:
www.nswash.com Copy e,

Sold To:

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

Confirm To: AVIATION

Page: 4

0098307
06/01/2021

RYAN LEE
0007099

361-429-4494

accountspayable@cctexas.com; JeramiahL@:

Ship To:

FREIGHT NET 30 DAYS

Item Code
9000-0957 / 630-1029 EACH
ECO WRAP BRUSH MOUNTING PLATE

1007-0002 / 820-1561 EACH 6.00 0.00 0.00
HEX CAP SCREW SS 1-8 X 5-1/2 LG 18-8 *PIVOT BOLT HARDWARE

1008-0010/ 870-1700 EACH 12.00 0.00 0.00
FLAT WASHER SS 1 USS 18-8 *PIVOT BOLT HARDWARE

9000-1001 / 900-0006 EACH 12.00 0.00 0.00
BUSHING, ECO WRAP BRUSH ARM END UHMW RED @2-1/2 X 1-1/4 LG

1012-0009 / 840-5003 EACH 6.00 0.00 0.00
LOCK NUT SS 1-8 18-8 “PIVOT BOLT HARDWARE

9000-1002 / 900-0012 EACH 12.00 0.00 0.00
SPACER, ECO WRAP BRUSH ARM SHAFT UHMW BLACK @2 OD X 1-1/2 ID X 3/4
LG.

4012-0014 / 610-1301 EACH 12.00 0.00 0.00
BEARING HOUSING, STEEL 1-1/2" FOR #610-1340 BEARING INSERT

4012-0015/610-1340 EACH 12.00 0.00 0.00
BEARING INSERT UHMW OIL-FILLED, 1-1/2"

1004-0007 / 820-1535 EACH 24.00 0.00 0.00
HEX CAP SCREW SS 1/2-13 X 2-1/2 LG 18-8 *PILLOW BLOCK BEARING
HARDWARE

1008-0005 / 870-1401 EACH 48.00 0.00 0.00
FLAT WASHER SS 1/2 USS 18-8 *PILLOW BLOCK BEARING HARDWARE

1012-0006 / 840-2000 EACH 24.00 0.00 0.00
LOCK NUT SS 1/2-13 18-8 *PILLOW BLOCK BEARING HARDWARE

9400-0050 / EACH 3.00 0.00 0.00
ROCKER PANEL ARM COMPLETE DRIVERS FIBER/FOAM 15:1 REDUCER, 1/2
HP MOTOR, SERIES 2000 INCLUDES ARM WITH BUMPER, MOUNTING
BRACKET, AND U-BOLTS
*15:1, 1/2HP, 460V, DRIVER-SIDE UTILITY CONNECTION

***SPECIAL FLANGE STYLE SHAFT W/ HARDWARE, 1-7/16" REDUCER 235-2132
9400-0049 / EACH 3.00 0.00 0.00

ROCKER PANEL ARM COMPLETE PASSENGER FIBER/FOAM, 15:1 REDUCER,
MOTOR SERIES 2000 INCLUDES ARM WITH BUMPER, MOUNTING BRACKET,
AND U-BOLTS
*15:1, 1/2HP, 460V, DRIVER-SIDE UTILITY CONNECTION
***SPECIAL FLANGE STYLE SHAFT W/ HARDWARE, 1-7/16" REDUCER 235-2132

6.00 0.00 0.00

34.83 208.98
11.57 69.42
2.06 2472
19.14 229.68
6.09 36.54
4.46 53.52
27.36 328.32
54.33 651.96
1.26 30.24
0.29 13.92
0.56 13.44
2,189.74 6,569.22
2,189.74 6,569.22

Continued



Quote
Order Number:
e/ Order Date:
NS CORPORATION
235 WEST FLORENCE AVE. Salesperson:
INGLEWOOD, CA 90301 Customer Number:
Tel: 310-412-7074
Fax: 310-412-1196 Telephone:
www.nswash.com Copy e,

Sold To:

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406

Confirm To: AVIATION

Page: 5

0098307
06/01/2021

RYAN LEE
0007099

361-429-4494

accountspayable@cctexas.com; JeramiahL@:

Ship To:

FREIGHT NET 30 DAYS

631-0001D / EACH 3.00 0.00 0.00
ROCKER PANEL BRUSH, FIBER, ECO MOTION, FLANGE STYLE, DRIVER SIDE

631-0001P / EACH 3.00 0.00 0.00
ROCKER PANEL BRUSH, FIBER, ECO MOTION, FLANGE STYLE, PASSENGER
SIDE

9200-0049 / 400-0482 EACH 3.00 0.00 0.00
ECO DEMA LOOP SUPPLY MANIFOLD WITH PRE-SOAK ARCH

5025-0008 / 200-0081 EACH 3.00 0.00 0.00
EYE ELECTRIC EMITTER BANNER SMA30PEL SENSOR

5025-0009 / 200-0082 EACH 3.00 0.00 0.00
EYE ELECTRIC RECEIVER BANNER SM2A30PRLNC SENSOR

AIR-10-D / EACH 6.00 0.00 0.00
Blower Producer, 10 HP; Electrical Controls Not Included.
* Standard Driver Side. Blue Impeller.
* Left Hand Discharge.
* Counter Clockwise Rotation when viewed from intake.

AIR-10-P / EACH 4.00 0.00 0.00
Blower Producer, 10 HP; Electrical Controls Not Included.
* Standard Passenger Side. Yellow Impeller.
* Right Hand Discharge.
* Clockwise Rotation when viewed from intake.

4020-0043 / EACH 10.00 0.00 0.00
BLOWER NOZZLE EXTENSION 8 IN

/ICRATE /
CRATING CHARGES

/FREIGHT / EACH 1.00 0.00 0.00

ESTIMATED FREIGHT FEES

VERBAL, JERAMIAH LECHLER PH 361-429-4494
PRICE, PER LINE ITEM, REFLECTS BUY BOARD'S DISCOUNT RATE OF 19%

824.96 2,474.88
824.96 2,474.88
639.08 1,917.24
233.27 699.81
274.65 823.95
3,388.03 20,328.18
3,388.03 13,552.12
94.90 949.00
225.00

1,950.00 1,950.00



' Quote
k Order Number:
4 Order Date:
NS CORPORATION
235 WEST FLORENCE AVE. Salesperson:
INGLEWOOD, CA 90301 Customer Number:
Tel: 310-412-7074
Fax: 310-412-1196 Telephone:
www.nswash.com Copy e,

Page:

0098307
06/01/2021

RYAN LEE
0007099

361-429-4494

accountspayable@cctexas.com; JeramiahL@:

Sold To: Ship To:

CORPUS CHRISTI INT'L AIRPORT CORPUS CHRISTI INT'L AIRPORT
1000 INTERNATIONAL BLVD. 1000 INTERNATIONAL BLVD.
FLOOR: UNI SUITE: TSA FLOOR: UNI SUITE: TSA

CORPUS CHRISTI, TX 78406 CORPUS CHRISTI, TX 78406

Confirm To:  AVIATION

FREIGHT NET 30 DAYS

Net Order:

*QUOTE VALID FOR 30 DAYS ONLY. L ) .
ess Discount:

**LABOR TIME IS ESTIMATED. Freight:
***JOBS MAY REQUIRE MORE MATERIALS AND LABOR TIME. Sales Tax:
**IMPORTANT: THIS IS NOT AN INVOICE.

***DO NOT USE THIS QUOTE TO SUBMIT FINAL PAYMENT.

98,920.70
0.00
0.00
0.00
98,920.70



C-D Electric

C Motor Sales and Service
D 617 HIGH STARR DRIVE

CORPUS CHRISTI, TEXAS 78408

ELECTRIC DAY OR NIGHT (361) 888-4133
June 2, 2021
CCIA
JEREMIAH W/O
ID
QUOTE 6022021-1
RE: Here is the information that you were requesting re:
Item 1 2 3
Manufactor TOSHIBA
HP 10
FR 215TC
ENCLOSURE TEFC-841
RPM 3600
AVAILABITLITY 5-STOCK
FOB PREPAID
NEW/USED NEW
NET EACH $1,075.00
PART NUMBER 10F2-841-CF
VAC 460
qty needed 15
total price $16,125.00

NOTES:

subject to prior sale 15IN STOCK NOW
Thank you

PRICE DISCOUNT ON QTY ORDERED
QUOTE GOOD FOR 30 DAYS
Chris Cunningham



	Sole Source Letter.pdf
	235 West Florence Avenue Inglewood California 90301.pdf

	NS Corporation Quote.pdf
	C-D Electric Quote.pdf
	Sheet1


